
Fit-Biddings after 1M opening

All points of partner are distribution-points (DHP)

M=major color; C=Clubs; D=Diamonds; H=hearts; S=Spades; m=minor color

CS=common sense

Partner bid opener partner opener

2M=6-9P, 3+fit new color is trial

Acol

3M=0-5HP, 4+fit preemptive

4M=more distribution than points pass

5+fit; short in other major

2NT=limit 10-11 or strong 16+DHP 3C=12-13 flat distribution 3M=10-11

cue/RKC=16+

3D=14-15 with singleton relay(3H)=which in sequence (3S=C etc)

3H=14-15 with void relay(3S)=which in sequence (3NT=C etc)

3NT=14-15 flat distribution pass or 4M or cue

cue=16+ CS

3C=12-15 flat distribution in sequence as after 2NT

3D=12-15, singleton relay(3H)=which in sequence (3S=C etc) 4M/cue/RKC

3M'=12-15 with void relay(3S)=which in sequence (3NT=C etc) cue/RKC

3NT=16+, singleton relay(4C)=which in sequence (4D=C etc) cue/RKC

4x=16+, void in x cue/RKC



The openings at 2 level

The 2C opening

2C: weak with both majors (minimum 5/4) or 20-21HP but no NT distribution

…. or 8 certain tricks or 24+HP
2D: no 4card major and no 14HP

2H: 5card H; minimum 4card S

2S: 5card S

2NT: 20-21 HP

3NT: 24+HP

3C/D/H/S: 8 tricks

4C/D/H/S: 9 tricks

2H: weak with 4H or 3H+1S

2S: weak with 4S or 3S+1H

2NT: 14+HP

3C: minimal

3D relay

3H: 5card H

3S: 5card S

3NT: 5+card H-5+card S

4H: 6card H-4card S

4S: 6card S-4card H

3D: maximal with 6 card major

3H relay

3S: 6card H

3NT: 6card S

3H: maximal 5card H-4card S

3S: maximal 5card S-4card H

3NT: maximal 5card H-5card S

4x: strong with x

4NT: 20-21 HP

5NT: 24+HP



The 2D opening

2D: weak (6-11 HP) with 6card major or 22-23 HP or MF in color
2H: weak

2S: weak but can support 3H

after 2H and 2S 2NT : 22-23 HP

after 2H and 2S 3x/4x: 9/10 fixed tricks in color x

2NT: 14+ HP

3C: maximal with H

relay 3D

3H: 8-9 HP

3S: 10-11 HP

3D: maximal with S

relay 3H

3S:8-9 HP

3NT: 10-11 HP

3H: minimal with H

3S: minimal with S

Muiderberg

2H/S: weak (6-11 HP) with 5card major and 4+card in a minor
2NT: 0-13HP asks for minor

3C/D

pass

3C: 14+ HP=asks for strength

3D: 6-7 HP

3H: 8-9 HP

3S: 10-11 HP


